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MO 300
FO# 500
# 0% 100
Z0% 600
WO 300
FO5H 300
HOFE 500
A O 1042
RO 600
ROE 2000
#OZ= 1000
Ol 600
RO 2000
100 H 523
=0 500
TO# 300
TOft 300
=044 600
M O3 2000
RKOE 2000
BO= 1150
FOF 600
EOn 300
=08 1000
MOHF] 500
FO%E 500
=OZn 600
5ROF 500
=08 600
MOUE 600
5RO 500
ZOI8 2000
ZOH 600
YO, 000
E0H 2000
frO0& 1000
SFOOK: 600
0= 2000
RO 3000
HOE 10000
BOHT 1000




MO 2000
=08 2000
=08 642
FIOX 1000
ImfEm 9307 600
BRO&E 1150
=0= 600
MO 1000
RO 3000
4] Ok 300
PR OHi 500
fRO1E 500
&m0 600
R0 300
FrO®t 2000
RO 1000
A ORL 600
EO% 500
MO 200
&EOkE 500
FOE 500
@] 500
PO 1000
FOHE 1000
HWOE 600
=015 1000
E O 600
FORE 600
NOFS 600
EIOR 1500
B2OE 10000
S0 600
ROE 600
mOE 500
MOF 600
ROFE 500
=208 500
ZIOH 500
FOZ 500
0% 1000
SHOES 300




e OF= 3000
%073 100
=0& 1000
HOZE 600
BOB 300
F05% 300
BOZE 000
TO& 600
BORR 300
HOm 300
#0753 600
FOHL 2000
fROH 100
FORE 500
MO 500
=0F 500
05 600
5RO 600
BEOR 1000
ROIR 100
=048 1000
HOE 300
RO 300
OB 300
OE 100
FROE 1000
R0 5000
MO 300
MO% 500
F08 300
5ROM 600
ZOk 600
EOEE 1000
FOH 1000
RO 300
MO5 500
el 1000
RO 1150
RO 1060
=O= 500
ROE 2000
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FHO# 500
MOFF 500
2O 500
EOZ 1000
[ROZR 600
+=0zH 300
O 500
=0 300
FHOK 500
ROME 600
207 300
FOZE 200
=08 1000
EOE 300
MOF] 500
HWOLE 2000
T0O&8 5000
MOLE 600
5RO 500
s8OF 500
NOES 600
=0K 600
2201 600
=O% 1150
&EOfF 1000
Tt O Wt 100
MO= 300
Ok 300
/ROX 1000
RO 500
MOME 200
EEOE 500
EONE 500
MO 500
#x05 300
AO=K 600
=018 1000
WOZE 600
=l /75000
RO 600
508 500




sROZE 500
MO&E 500
MOF 600
O 1000
MO=E 300
EO#F 600
RO 300
0T 100
BOZE 600
=0F 1000
ROE 600
=015 1000
O 100
WO 600
ROE 100
HOFE 300
0% 000
#O1a 300
RO=E 1000
BRO 300
ROE 500
FROYL 2000
MO 500
=0FE 500
BROZE 100
=013 2000
=0= 5000
MOl 300
MOZ 500
08 300
EfOsE 250
ROE 300
PO 1000
A O 542
%O 6000
RORE 300
BO=E 300
FROZ 600
MO 500
2 O# 500
D 3000
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20 500
ROE 500
OB 2000
EOZ 500
5RO 600
RO 300
MOX] 500
EORE 300
=55 1000
MOZ= 200
BO% 1000
BOH 1000
O 600
=0AE 300
JO% 2000
7RO 500
0% 600
RO 500
MO 600
#HO%E 600
5LO% 600
TOH 1150
IO 300
%ﬁﬂﬁﬁig’FJP&A 1150
O 100
=0AE 100
FROX 1000
TOE 2000
[ROE 500
RO% 500
EOHE 500
MO 200
EON 1150
=08 1000
mO#E 600
BO& 600
=O0= 600
ZOE 5000
508 500
HOR 500
MO= 200




MOF 600
RO 000
MOE 1000
O=E 300
FROIF 2000
Weng Mei jun 500
F0OE 100
FOE 100
RO 300
O 100
=0%F 1000
BOZE 600
BOE 500
HOM 500
MOE 1200
RORE 500
5=OIR 100
=O= 1000
Z=0lE 1000
O 100
207 000
ROE 000
#OF5 600
MO 500
0O 300
RO 300
#OJT 100
FOE 100
O 300
AROEL 2000
=OAL 100
BRO#R 100
=HOE 500
=02 5000
MO 300
MO%. 500
=085 300
AOh 300
MOZE 5000
mOlz 5000
ROE 300
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=FOF 1000
RO 60000
MOZ& 1000
w=OE 2000
HO#, 500
MO 500
2O 500
ROZ 600
E=O= 500
MO 500
RO 000
=0 1000
EOid 300
BRORR 300
sH O 500
MOE 50000
BHOHT 1000
MOYE 600
5RO 500
MO 600
5RO 500
=0E 600
MOS 300
1Ok 300
5RO 1000
HOF 5000
BROH 500
MO 200
RO 500
& O 500
& O 600
=0 1000
MOA 600
=08 500
MOF 600
MO&E 500
#HO% 1000
A0S 1000
GO 500
MO=E 300
BROZE 2000
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= O 500
=0&E 1000
O 300
40OH 100
BOZE 600
MO 1000
@)= 100
=JQ)E 1000
RO 300
QL= 500
FOHE 1000
HOF 600
MO 500
=07 600
F=OH 2000
RO= 600
O 300
ROIR 100
=0AT 100
& OA 300
[ROZE 100
2071 100
= @)ES 100
FORE 500
S0= 5000
BO= 500
MO 300
MO 500
=08 300
O 600
®Ot= 300
28O 1000
ZIOH 500
BONT 1000
ROE 2000
WOES 500
O 500
E=O= 500
21013 500
FO%8 500
ROZE 600




2 RO 600
TO= 5000
EOid 300
=08 1000
5RO 500
#MOlE 600
MOZ&E 600
ROH 500
=08 600
=071 500
A Ok 300
ROX 1000
PR OB 500
MOH: 200
RO 500
& O 500
NOE=] 600
=018 1000
O 600
2018 1000
#FOTE 1000
HOE 5000
MO& 500
5082 500
MOF 600
#OK 1000
O 300
HOE 1000
ZOR 400
MO 5000
#HO=E 300
=08 1000
%077 100
BOBi 300
BOZE 600
O 100
ROHL 2000
205 000
#O 300
RO 300
O 300




=JQ)= 1000
ROIR 100
B0z 100
2Z0F 500
RO 600
Ok 100
MO 500
O 600
FORE 500
E2OHE 1000
PO 100
RO 300
FOES 1000
BOE 500
EOIE 500
Weng Mei jun 300
HOL 1000
50= 5000
MO 300
MWOZ 500
R OTE 1000
=08 300
MO 1500
FTOK 600
GRONE 300
BOR 300
=0 300
=05 3000
OB 1000
+0O= 5000
#OR 1000
FHO0#4 500
2108 500
ROE 2000
HOE 500
HOEH 500
FROZ 600
=0= 500
B0 300
FPOE 1000
=0z 500
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EOE 1000
0% 100
RO 600
HOM 600
TOE 600
EOr 300
=08 1000
BOR 600
=053 2000
MO 600
502 500
MOIE 600
=0E 000
=0 500
ZOE 1150
FOE 300
A On5 300
B0+ 1000
& O3 1000
FOE 300
EO8E 600
ROZE 300
FIOkd 300
3RO 1000
Z0g% 500
O 1000
TOE 600
EOE 500
BROHI 500
BROIE 500
MOHME 200
ZOE 520
BOE 600
=018 1000
MOA 600
B0 3000
BHO3E 300
FOM 777
20k 10000
MO 500
=04 500




MOTF 600
HOK 1000
FO=E 300
O 300
BOZE 600
#cOh 100
=0& 1000
=05 1000
BROZH 166
PROZE 600
MO 1900
RO 100
Z0#E 300
OB 500
RO 600
oS 100
FEOR 1000
rOA 300
RO 300
HOFS 600
sROIR 100
RO 300
ROBL 2000
0% 300
Z 048 1000
HOIE 500
BHOIE 500
ROZE 300
O 100
HOUE 300
MOPE 500
=0 500
=07 600
MO 300
#rOAE 1000
MO 500
ZF0#H 5000
205 200
@O5 300
FFOME 600
RO%E 300
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F05 200
2O/ 1000
=074 10000
MO 1000
E=O= 500
MOFF 500
ROE 2000
O 500
FO# 500
BROZE 600
IO 500
5RO 600
EOm 300
=08 1000
MO= 500
TO0E 600
=088 600
MOIE 600
MO 600
RO 500
sROH 500
A O 300
TROEE 2000
FRO#] 500
ROX 1000
& O 500
MORE 200
O 600
BROH) 500
BROIZ 500
=048 1000
NOEE] 600
BROSE 1000
B0 1000
HOE 5000
=08 500
HOTF 600
MO 500
B0 1000
=08 1000
BOZ 600




«wOf 100
O 300
Yeh Yi-Hsueh 1000
= @) 1000
MO 1000
=0% 600
=OHE 1000
Z03F8 5000
SO 300
FORE 500
RO%E 300
MOLT 500
ROIR 100
2018 300
fROH 100
FOFS 600
BIOE 100
=0O4r 2000
BHOB 500
== 300
=0 300
BOiE 500
RO= 600
sROFEE 2000
=02 500
H O 300
OGS 300
ESQ)= 1000
O 100
FAGLS 100
O 300
MOZ= 500
FTOM 600
HOE 300
205 200
Elel= 1000
TOH 300
O 500
ROE 2000
(=@ 600
WO 500
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O

100

EO= 500
B0 500
JO5 300
MOZE 500
RO 600
=08 1000
TOE 5000
MO 1000
SO/ 1000
=08 600
MO¥E 600
5RO 500
sROH 500
MOZ 600
MOZ 2000
FBOAL 100
MOE 300
BOF 500
WOk 300
5RO 1000
FOfF 600
EOIE 500
MORME 200
RO 500
RO 500
=0 300
=0 1000
MOA 600
B0 300
=011 600
2O 500
MO&E 1000
RO 500
FOZ= 200
MOEHE 1200
MO17 300
ZOM 300
=0H 500
MOF 600
MO& 500




TOR 300
#HOK 1000
HOE 5000
fRO75 3000
=0& 1000
BOZE 600
RORE 300
50)] 100
=0%] 2500
O 100
Z048 1000
EROE 100
O3 300
TO# 300
F0OFE 600
=0E 500
Elel= 500
O3 600
OIS 500
#Ola 300
MOUT 500
#HOk 300
MOT1## 300
ROE 600
EOE 1000
ROXE 100
sROIR 100
ZF038 5000
=O4l 2000
OB 500
5BOF5 500
ZOM 300
MO 200
MO 300
MOz 500
FFOM 600
ROIE 300
OB 1000
2 OF 100
MO 500
BROZ 600




. EOZ 500
I3 EOE 2000
0% 500
THO= 500
EOR 600
MO 7000
=08 1000
MO 600
MOUE 600
B0 500
OB 500
=208 600
TOE 500
0] O 300
BEOX 1000
EOTR 500
TOE 600
FROE) 500
BROE 500
WOZE 600
=018 1000
MO 200
BOMT 1000
BEORE 300
HOS 5000
HOT 600
508 500
MO 500
MOB 1000
SEOE 2000
EOF 1000
w05 100
BOXZ 600
RO 300
%015 1000
EOH 300
e 100
#OY= 100
E0= 7000
00 2000
=05 600
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ROZE 600
BOIE 500
Sleli 500
OF5 500
FOH§ 300
MO 300
sROIR 100
~OE 500
w Ol 300
=0F 500
MOW 500
#0038 5000
018 300
O 300
BRO%R 100
isiOFE] 600
sROEE 2000
O3 300
=07 25000
MO 500
RO 1000
7O 600
ZROX 1000
O 1000
= O&E 100
=O= 500
ROE 300
HO% 500
FROZE 600
MO 500
MO 500
ROE 2000
RO 600
e 5000
=08 1000
MO= 300
FOR 300
sROH 500
=08 600
5RO 500
MO 600




MOYE 600
1O 300
RO 1000
F20P) 5000
BROIF 500
EOHE 500
FO®F 600
RO 500
MOA 600
MOH 200
=0l 1000
MOF 600
MORE 500
=08 500
Ok 1000
B OHT 1000
=0 1000
2105 5000
2075 500
BOZ 600
220& 1000
%077 100
BROm: 300
MOZE 1000
=07& 5000
ZF048 1000
EROE 100
BOE 500
#FOta 300
MO 300
ROE 2000
=HOFE 500
O 300
FROLL 2000
MFO77 600
ROE 000
MOYT 500
0% 300
=07 600
mO=E 1000
BHOIE 500
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= O 300
=ORE 500
03 5000
TO8 300
BROZE 100
=OIR 100
B OfY 300
ZOMK 500
MO 1000
MO 300
MOZ 500
ERRON 600
=0 1350
OB 1000
ZO& 300
ROX 1000
#O¥= 300
MOE 500
O™ 100
FOH 500
=O0= 500
MOEF 500
ROE 300
ROE 2000
[ROZR 600
5RO 600
B0 1000
=08 1000
=08 600
5RO 500
MOYE 600
MO 600
RO 500
{ O 300
RO 1000
i O¥iE 500
BROIE 500
TOfE 600
BR O 500
MWO&E 600
MOME 200




=048 1000
MOF 600
=08 500
MO 500
MOK 1000
=02& 1000
RO 300
BAOZ 600
#0773 100
MOLF 2000
MO 1000
MO 500
ROIE 300
= O 500
ROEE 2000
BROXE 100
ZF0OH 1000
FOH 300
ROIR 100
MO 500
FOE 1000
O 600
F03# 5000
MO 300
=07 600
HOYE 300
RO 500
=0F 500
O 100
#OR 300
O 300
MO 300
MOz 500
O 600
ROX 1000
OB 1000
=0= 500
RO 300
ROE 2000
FHOH 500
BROZ 600
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= O/ 100
HOZE 500
MO 500
T O/ 1150
RO 600
=08 1000
FOA 200
MOYE 600
RO 500
=05 600
MOZE 600
RO 500
f1 O 300
SO 1000
HOR 3000
1RO 1000
TO% 600
2O 500
EEOHI 500
BROE 500
MOHE 200
MOA 000
=018 1000
#H0% 1000
=0% 666
20& 500
MO 500
MOF 600
508 500
FHOK 1000
RO 300
Z0E 1000
BOZ 600
%077 100
HOE 10000




